

Pay Estimate Created Date: September 16, 2022

Progress Estima	ate Number	Contract ID Prime Contractor	211217-B02 Magruder Paving, LLC		September 2, 2022 September 15, 202		\$8,499,999.89 (\$9,392.93) \$8,490,606.96		
Approval Date							By User		
September 16, 2022		Generated and Approved (and should be considered Draft) at the Project Office Level by							
September 16, 2022			Reviewed and Approve	d (and should be co	onsidered Draft) at th	e Resident Engineer Level by	baxtem1		
September 19, 2022		Reviewed and Approved at the Central Office Controllers Office Level by							
Original Comp	letion Date	Current Cor	mpletion Date	Actual Completio	n Date	% of Current Contract Amour	nt Complete		
November	1, 2022	Novemb	er 1, 2022			75.91%			

	Contract Informational Dat	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	January 5, 2022	January 5, 2022	
Letting Date	December 17, 2021	December 17, 2021	
Notice to Proceed Date	March 7, 2022	March 7, 2022	
Open to Traffic Date			
Work Began Date	June 22, 2022	June 22, 2022	

Contract Total Pa	y For Estimate No. 8			
		This Estimate	Previous	To Date
211217-B02				
	Total Posted Items Pay	\$1,892,136.44	\$4,552,701.93	\$6,444,838.37
	Gross Item Adjustments	\$424,892.12	\$798,543.93	\$1,223,436.05
	Incentive	\$92,097.20	\$127,270.00	\$219,367.20
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	,		\$5,478,515.86	\$7,887,641.62
Contract Total Page	yable This Estimate:	\$2,409,125,76		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2P3241	0210	6181000	MOBILIZATION	LS	\$134,845.000	0.5	\$67,422.50
	0300	6061060	MGS GUARDRAIL	LF	\$36.000	100	\$3,600.00
	0310	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$37.000	1,000	\$37,000.00
	0320	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,800.000	2	\$7,600.00
	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,100.000	4	\$12,400.00
Project J2P3	241 - Total						\$128,022.50
J2P3259	0350	2022010	REMOVAL OF IMPROVEMENTS	LS	\$40,233.160	0.7	\$28,163.21
	0360	2153000	SHAPING SLOPES, CLASS III	100F	\$900.000	5	\$4,500.00
	0390	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$58.970	8,603.81	\$507,366.68
	0400	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$57.850	19,697.33	\$1,139,490.54
	0420	4031058	INTELLIGENT COMPACTION	LS	\$64,221.700	0.5	\$32,110.85
	0430	4031059	PAVER-MOUNTED THERMAL PROFILES	LS	\$10,000.000	0.5	\$5,000.00
	0450	4071007	TACK COAT - LOW OR NON-TRACKING	GAL	\$2.920	15,348	\$44,816.16
	0580	6161025	CHANNELIZER (TRIM LINE)	EA	\$10.000	150	\$1,500.00
	0590	6161030	TYPE III MOVEABLE BARRICADE	EA	\$110.000	10	\$1,100.00
	0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$0.950	70	\$66.50
Project J2P3	259 - Total						\$1,764,113.94
Overall - Tot	al						\$1,892,136.44

Revision 4/1/2020 Page 1 of 16



Pay Estimate Created Date: September 16, 2022

Contract Adjustments This Estimate

0150

0320

J2P3259 0390

DOWEL BAR RETROFIT

TRANSITION SECTION

(REGULAR/NO CURB)

BITUMINOUS PAVEMENT

MIXTURE PG64-22, (BP-1)

MGS BRIDGE APPROACH | Construction

Material

Stockpile

Price

Progress Estimate Number 8 Contract ID 211217-B02 Pay Period Start September 2, 2022 September 15, 2022 Original Contract Amount \$8,499,999.89 Pay Period End September 15, 2022 September 15, 2022 Net Change Order Amount (\$9,392.93) Current Contract Amount \$8,499,606.96

	Adj Typ	e	Entered By		Comment	S	Time Units	F	Rate	Ar	mount
	SPAD	Incentive		foxd							\$92,097.20
verall -	Total										\$92,097.2
	A allowa			in the Incen	tive, Disincen	itive, Liqui	dated Damages or Othe	er Contract /	Adjustments		
ne item	Aujust	ments This	Estimate		1				1		
Project Number	Line No.	Iten	n Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
I2P3241	0090	CONCRE	ING AND PLACING TE MATERIAL FOR DEPTH PAVEMENT REPAIR	Overrur		ad	Unit price based on avera ljustments for installed qi previous payment esti ments of ',225.00000 - 22 applied (uantity on all mates. Price	98.6	\$225.00	\$22,185.00
	0090	CONCRE	ING AND PLACING TE MATERIAL FOR DEPTH PAVEMENT REPAIR	Materia		-201.				\$225.00	(\$45,427.50
	0090	CONCRE	ING AND PLACING TE MATERIAL FOR DEPTH PAVEMENT REPAIR	Materia		genera	djustment offsets the orig ated Material Payment E Adjustment (0018) due ng Payment Estimate Ex the current Payme	stimate Item to user foxd ception 4 on	201.9	\$225.00	\$45,427.50
C	0130	INSTALL	EL BAR (DRILLING, FURNISHING AND ATION) FOR FULL AVEMENT REPAIR	Overrur		ad	Unit price based on avera ljustments for installed q previous payment esti nts of ',7.50000 - 7.5000	uantity on all mates. Price	120	\$7.50	\$900.00
	0130	INSTALL	EL BAR (DRILLING, FURNISHING AND ATION) FOR FULL AVEMENT REPAIR	Materia					-250	\$7.50	(\$1,875.00
	0130	INSTALL	EL BAR (DRILLING, FURNISHING AND ATION) FOR FULL AVEMENT REPAIR	Materia		genera	djustment offsets the orig ated Material Payment E Adjustment (0020) due ng Payment Estimate Ex the current Payme	stimate Item to user foxd ception 7 on	250	\$7.50	\$1,875.00
	0140	INSTALL	TIE BAR (DRILLING, FURNISHING AND ISTALLATION) FOR FULL PTH PAVEMENT REPAIR (TYPE L JOINTS) Overrun Unit price based on averaged ove adjustments for installed quantity of previous payment estimates. FAdjustments of ',10.00000 - 10.00000 applied (if non-zero) applied (if non-zero)		uantity on all mates. Price 10.00000, 'is	5	\$10.00	\$50.00			
	0140	INSTALL	IE BAR (DRILLING, FURNISHING AND LATION) FOR FULL AVEMENT REPAIR (TYPE L JOINTS)	Materia					-28	\$10.00	(\$280.00
	0140	INSTALL	IE BAR (DRILLING, FURNISHING AND LATION) FOR FULL AVEMENT REPAIR (TYPE L JOINTS)	Materia		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0022) due to user foxd overridding Payment Estimate Exception 9 on the current Payment Estimate.			28	\$10.00	\$280.00
	0150	DOW	EL BAR RETROFIT	Materia					-486	\$78.10	(\$37,956.6

Revision 4/1/2020 Page 2 of 16

This adjustment offsets the original system-

generated Material Payment Estimate Item Adjustment (0023) due to user foxd overridding Payment Estimate Exception 12 on the current Payment Estimate.

Payment Estimate Item Adjustment generated

Reference Item Price Adjustment Index

Adjustment Type applied is FUEL

Stockpile Transaction

486

2,338.67

\$78.10

\$5.64

\$37,956.60

(\$2,603.04)

\$13,199.45



Pay Estimate Created Date: September 16, 2022

Progress Estimate Number	Contract ID		•		Original Contract Amount Net Change Order Amount	\$8,499,999.89
8	Time Contractor	Magrader Faving, EEO	r dy r chiod End	Ocptember 10, 2022	•	\$8,490,606.96

	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
259 (0390	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,272.86	\$5.64	\$18,472.02
(0390	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,992.28	\$5.64	\$16,888.43
(0390	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material			-8,603.81	\$58.97	(\$507,366.68
(0390	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user foxd overridding Payment Estimate Exception 1 on the current Payment Estimate.	8,603.81	\$58.97	\$507,366.6
(0390	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)					\$54,849.29	
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,204.84	\$5.64	\$18,088.12
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,215.35	\$5.64	\$18,147.44
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,397.05	\$5.64	\$19,172.95
04	0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,250.95	\$5.64	\$18,348.36
	0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,254.4	\$5.64	\$18,367.83
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	3,009.8	\$5.64	\$16,987.3
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	364.94	\$5.64	\$2,059.72
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Material			-31,886.37	\$57.85	(\$1,844,626.50
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user foxd overridding Payment Estimate Exception 2 on the current Payment Estimate.	31,886.37	\$57.85	\$1,844,626.50
(0400	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Other Item Adjustment	Asphalt Cement Price Adjustment	SP095			\$185,844.3
(0440	MISC.	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',103.87511 - 96.04000, 'is applied (if non-zero).	34.62	\$103.88	\$3,596.16
	0490	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material			-98.7	\$325.00	(\$32,077.50
	0490	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user foxd overridding Payment Estimate Exception 3 on	98.7	\$325.00	\$32,077.50



Pay Estimate Created Date: September 16, 2022

Progr	ess Est	timate Number 8	Contract ID 211217-B02 Prime Contractor Magruder Paving, LLC			Pay Period End September 15, 2022 N	riginal Contradet Change Ord urrent Contrad	\$8,499,999.89 (\$9,392.93) \$8,490,606.96	
Project Number	Line No.	Item Desc	Item Description		Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3259						the current Payment Estimate	э.		
	0530	DOWEL BAR (DRILLING FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR		Material			-140	\$7.50	(\$1,050.00)
	0530			Material		This adjustment offsets the original system generated Material Payment Estimate Iter Adjustment (0015) due to user fox overridding Payment Estimate Exception 5 of the current Payment Estimate	m d n	\$7.50	\$1,050.00
				VAL adjustments for install grevious payment			ill e	\$0.95	\$338.77
Total									\$424,892.12

Revision 4/1/2020 Page 4 of 16



					(Contract Project Information							
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work						
J2P3241	onroe												
J2P3259	P3259 FAF Coldmill and resurface 61 LINCOLN northbound Lanes from Route V to 0.4 Mile South of Route UU in Pike County near Bowling County near Bo												
Totals by .	Job Numbe	rs											
J2P3241		d Item Pay Item Adjustm		Item Pay	This Estimate \$128,022.50 \$20,531.96 \$148,554.46	Previous \$103,071.60 \$37,338.04 \$140,409.64	To Date \$231,094.10 \$57,870.00 \$288,964.10						
	Liquid	tive entive lated Damages Contract Adju			\$10,342.52 \$0.00 \$0.00 \$0.00	\$13,656.07 \$0.00 \$0.00 \$0.00	\$23,998.59 \$0.00 \$0.00 \$0.00						
J2P3259		d Item Pay Item Adjustm		Item Pay	This Estimate \$1,764,113.94 \$404,360.16 \$2,168,474.10	Previous \$4,449,630.33 \$761,205.89 \$5,210,836.22	To Date \$6,213,744.27 \$1,165,566.05 \$7,379,310.32						
	Liquid	tive centive lated Damages Contract Adju			\$81,754.68 \$0.00 \$0.00 \$0.00	\$113,613.93 \$0.00 \$0.00 \$0.00	\$195,368.61 \$0.00 \$0.00 \$0.00						

Revision 4/1/2020 Page 5 of 16



Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3259, Item 4011209, Project Item Line Number 0390, Material Set 401120996, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3259, Item 4030003, Project Item Line Number 0400, Material Set 403000396, Material 0403SP095CLG - Superpave 9.5 mm, Des C 80 Gyros, Acceptance Action Generic AspHigh is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3259, Item 6131010, Project Item Line Number 0490, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131010, Project Item Line Number 0090, Material Set 613101096, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3259, Item 6131015, Project Item Line Number 0530, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3259, Item 6131015, Project Item Line Number 0530, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131015, Project Item Line Number 0130, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131015, Project Item Line Number 0130, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131018, Project Item Line Number 0140, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131018, Project Item Line Number 0140, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6131018, Project Item Line Number 0140, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6134001, Project Item Line Number 0150, Material Set 613400196, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6134001, Project Item Line Number 0150, Material Set 613400196, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3241, Item 6134001, Project Item Line Number 0150, Material Set 613400196, Material 0704CMRP - Rapid Set Concrete Patching Material, Acceptance Action Generic 0704CMRP is insufficient.	No Remark was entered by Engineer	foxd	Overridden
Estimate Exception Type: Item Overrun: Contract 211217-B02, Contract Project J2P3259, Project Item Line Number 0440, Contract Line Item Number 0440, Item 4039910, Minor Item.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Item Overrun: Contract 211217-B02, Contract Project J2P3259, Project Item Line Number 0740, Item 6221001, Minor Item.	No Remark was entered by Engineer	foxd	Acknowledged
Estimate Exception Type: Item Overrun: Contract 211217-B02, Contract Project J2P3241, Project Item Line Number 0140, Item 6131018, Minor Item.	No Remark was entered by Engineer	foxd	Acknowledged

Revision 4/1/2020 Page 6 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)	
211217-B02	J2P3241	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00	
		0001	0020	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	0.00	\$1,000.00	\$0.00	
		0001	0030	3049910	MISC.PERMANENT AGGR. EDGE TREATMENT	500.50	0.00	500.50	TONS	0.00	\$37.51	\$0.00	
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	12.00	0.00	12.00	TONS	0.00	\$37.51	\$0.00	
		0001	0050	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	5,982.50	0.00	5,982.50	TONS	0.00	\$64.55	\$0.00	
		0001	0060	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.00	
		0001	0070	4071007	TACK COAT - LOW OR NON-TRACKING	7,007.00	0.00	7,007.00	GAL	0.00	\$2.92	\$0.00	
		0001	0800	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$50.00	\$0.00	
		0001	0090	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	103.30	201.90	305.20	SQYD	201.90	\$225.00	\$45,427.50	
		0001	0100	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	11.00	-11.00	0.00	SQYD	0.00	\$2.00	\$0.00	
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	11.00	-11.00	0.00	SQYD	0.00	\$2.00	\$0.00	
		0001	0120	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	418.00	418.00	836.00	LF	405.00	\$8.50	\$3,442.50	
		0001	0130	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	130.00	170.00	300.00	EA	250.00	\$7.50	\$1,875.00	
		0001	0140	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	5.00	5.00	10.00	EA	28.00	\$10.00	\$280.00	
		0001	0150	6134001	DOWEL BAR RETROFIT	588.00	0.00	588.00	EA	486.00	\$78.10	\$37,956.60	
		0001	0160	6161005	CONSTRUCTION SIGNS	1,442.00	0.00	1,442.00	SQFT	368.00	\$5.00	\$1,840.00	
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	25.00	\$10.00	\$250.00	
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,200.00	\$0.00	
		0001	0190	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$6,000.00	\$12,000.00	
		0001	0200	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	2.00	-2.00	0.00	EA	0.00	\$4,000.00	\$0.00	
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$134,845.00	\$67,422.50	
		0001	0220	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	144.00	0.00	144.00	LF	0.00	\$6.00	\$0.00	
	0001 0001 0001	0001	0230	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	26.00	0.00	26.00	LF	0.00	\$35.00	\$0.00	
			0001	0240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	36,782.00	0.00	36,782.00	LF	0.00	\$0.15	\$0.00
			0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	17,409.00	0.00	17,409.00	LF	0.00	\$0.15	\$0.00
		0001	0260	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	63,190.00	0.00	63,190.00	SQYD	0.00	\$1.43	\$0.00	
		0001	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,095.00	0.00	1,095.00	SQYD	0.00	\$1.43	\$0.00	
		0001	0280	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	287.40	0.00	287.40	STA	0.00	\$25.55	\$0.00	
		0001	0290	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	155.60	0.00	155.60	STA	0.00	\$27.74	\$0.00	
		0010	0300	6061060	MGS GUARDRAIL	100.00	0.00	100.00	LF	100.00	\$36.00	\$3,600.00	
		0010	0310	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,000.00	0.00	1,000.00	LF	1,000.00	\$37.00	\$37,000.00	
		0010	0320	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	2.00	0.00	2.00	EA	2.00	\$3,800.00	\$7,600.00	
		0010	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,100.00	\$12,400.00	
		0010	0340	6063020	TYPE C CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$28,000.00	\$0.00	
	Project J2	2P3241 - To	tal Value	Posted to D	Date as of Report Generated Date							\$231,094.10	
	J2P3259	0001	0350	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$40,233.16	\$40,233.16	
		0001	0360	2153000	SHAPING SLOPES, CLASS III	15.00	0.00	15.00	100F	5.00	\$900.00	\$4,500.00	
		0001	0370	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	5,246.00	0.00	5,246.00	TONS	0.00	\$35.67	\$0.00	
		0001	0380	3105002	GRAVEL (A) OR CRUSHED STONE (B)	442.00	0.00	442.00	TONS	0.00	\$35.67	\$0.00	
		0001	0390	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	14,861.00	0.00	14,861.00	TONS	8,603.81	\$58.97	\$507,366.68	
		0001	0400	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	79,478.00	0.00	79,478.00	TONS	75,886.37	\$57.85	\$4,390,026.50	
		0001	0410	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.50	\$15,000.00	\$7,500.00	
		0001	0420	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$64,221.70	\$64,221.70	

Page 7 of 16 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

iole. Fosieu Q	uanililes	anu vaiu	es are n	aseu on n	eport Generated date and can differ from the posted amo	Juni at the	une me Es	umate was	General	eu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211217-B02	J2P3259	0001	0440	4039910	MISC.ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C) - RUMBLE STRIP REPAIR	936.00	34.62	970.62	TONS	981.00	\$96.04	\$94,215.24
		0001	0450	4071007	TACK COAT - LOW OR NON-TRACKING	91,180.00	13,544.00	104,724.00	GAL	58,162.77	\$2.92	\$169,835.29
		0001	0460	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	16,930.00	-16,930.00	0.00	GAL	0.00	\$1.00	\$0.00
		0001	0470	5069905	MISC.GEOTEXTILE INTERLAYER FOR UNBONDED PAVEMENT REPAIR	160.00	-160.00	0.00	SQYD	0.00	\$5.85	\$0.00
		0001	0480	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.00
		0001	0490	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	160.00	0.00	160.00	SQYD	98.70	\$325.00	\$32,077.50
		0001	0500	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	16.00	-16.00	0.00	SQYD	0.00	\$2.00	\$0.00
		0001	0510	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	16.00	-16.00	0.00	SQYD	0.00	\$2.00	\$0.00
		0001	0520	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	1,440.00	-1,216.00	224.00	LF	224.00	\$8.50	\$1,904.00
		0001	0530	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	400.00	-260.00	140.00	EA	140.00	\$7.50	\$1,050.00
		0001	0540	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR	205.00	-4.25	200.75	TONS	172.75	\$246.51	\$42,584.60
		0001	0550	6133021	CLASS C PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	800.00	112.00	912.00	SQYD	784.00	\$104.38	\$81,833.92
		0001	0560	6139905	MISC.FURNISHING AND PLACING CONCRETE MATERIAL FOR	160.00	-160.00	0.00	SQYD	0.00	\$290.00	\$0.00
		0001	0570	6161005	UNBONDED CONCRETE REPAIR CONSTRUCTION SIGNS	2,499.00	0.00	2,499.00	SQFT	1,056.68	\$5.00	\$5,283.40
		0001	0580	6161025	CHANNELIZER (TRIM LINE)	300.00	0.00	300.00	EA	300.00	\$10.00	\$3,000.00
		0001	0590	6161030	TYPE III MOVEABLE BARRICADE	51.00	0.00	51.00	EA	10.00	\$110.00	\$1,100.00
		0001	0600	6161033	DIRECTIONAL INDICATOR BARRICADE	106.00	0.00	106.00	EA	36.00	\$15.00	\$540.00
		0001	0610	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,200.00	\$2,400.00
		0001	0620	6161070	TUBULAR MARKER	35.00	0.00	35.00	EA	0.00	\$75.00	\$0.00
		0001	0630	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	1.00	0.00	1.00	EA	1.00	\$6,000.00	\$6,000.00
		0001	0640	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$4,000.00	\$16,000.00
		0001	0650	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$206,069.19	\$0.00
		0001	0660	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	13.00	0.00	13.00	EA	0.00	\$250.00	\$0.00
		0001	0670	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	57.00	0.00	57.00	EA	0.00	\$50.00	\$0.00
		0001	0680	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	180,454.00	0.00	180,454.00	LF	0.00	\$0.22	\$0.00
		0001	0690	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	142,239.00	0.00	142,239.00	LF	0.00	\$0.22	\$0.00
		0001	0700	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT. TYPE L BEADS	2,803.00	0.00	2,803.00	LF	0.00	\$1.00	\$0.00
		0001	0710	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS	822.00	0.00	822.00	LF	0.00	\$1.00	\$0.00
		0001	0720	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	20.00	0.00	20.00	LF	0.00	\$10.00	\$0.00
		0001	0730	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.00
		0001	0740	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	443,101.00	356.60	443,457.60	SQYD	461,422.66	\$0.95	\$438,351.53
		0001	0750	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	2,816.00	-75.33	2,740.67	SQYD	2,740.67	\$9.24	\$25,323.79
		0001	0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	10,367.00	0.00	10,367.00	SQYD	9,232.80	\$0.95	\$8,771.16
		0001	0770	6229905	MISC.COLDMILLING BITUMINOUIS PAVEMENT FOR REMOVAL OF SURFACE (3IN THICK OR LESS) - RUMBLE STRIP REPAIR	5,867.00	221.32	6,088.32	SQYD	4,541.70	\$4.53	\$20,573.90
		0001	0780	6229905	MISC.PAVEMENT GROOVING	13,940.00	0.00	13,940.00	SQYD	0.00	\$3.50	\$0.00
		0001	0790	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	2,428.00	0.00	2,428.00	STA	0.00	\$20.59	\$0.00
		0001	0800	6269905	MISC.TRANSVERSE RUMBLE STRIP	46.00	0.00	46.00	SQYD	0.00	\$730.18	\$0.00
		0010	0810	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	1,975.00	0.00	1,975.00	LF	1,700.00	\$37.00	\$62,900.00
		0010	0820	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	6.00	0.00	6.00	EA	6.00	\$3,600.00	\$21,600.00
		0010	0830	6061080	MGS END ANCHOR	2.00	0.00	2.00	EA	1.00	\$1,500.00	\$1,500.00
		0010	0840	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	7.00	\$3,000.00	\$21,000.00
		0040	0850	9031010	CONCRETE FOOTINGS, EMBEDDED	2.00	0.00	2.00	CUYD	0.00	\$1,800.00	\$0.00

Revision 4/1/2020 Page 8 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211217-B02	J2P3259	0040	0860	9031210	STRUCTURAL STEEL POSTS	31.00	0.00	31.00	LB	0.00	\$12.00	\$0.00
		0040	0870	9031220	PIPE POSTS	648.00	100.00	748.00	LB	0.00	\$8.00	\$0.00
		0040	0880	9035004A	SH-FLAT SHEET	159.00	0.00	159.00	SQFT	0.00	\$26.00	\$0.00
		0040	0890	9039902	MISC.REINSTALLING EXISTING SIGNS	11.00	0.00	11.00	EA	0.00	\$2,230.00	\$0.00
		0001	5101	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.75	\$176,069.19	\$132,051.89
	Project J2	2P3259 - To	tal Value	Posted to D	ate as of Report Generated Date							\$6,213,744.26
211217-B02 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$6,444,838.36

Revision 4/1/2020 Page 9 of 16



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0210	6181000	MOBILIZATION	9/15/22	9/16/22	0.50	LS		.1				
0300	6061060	MGS GUARDRAIL	9/13/22	9/16/22	100.00	LF	MO 79 LT & RT 50' on each side	74.191		74.217		
0310	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	9/13/22	9/16/22	1,000.00	LF	MO 79 LT	72.466		72.672		
0320	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	9/13/22	9/16/22	2.00	EA	MO 79 LT & RT	74.191		74.217		
0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9/13/22	9/16/22	4.00	EA	MO 79 LT & RT and 74191-74.217 MO 79 LT	72.466		72.672		

Project: J2P3259

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0350	2022010	REMOVAL OF IMPROVEMENTS	9/13/22	9/16/22	0.70	LS	various	.1				
0360	2153000	SHAPING SLOPES, CLASS III	9/13/22	9/16/22	5.00	100F	at all crashworthy ends					
0390	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	9/13/22	9/16/22	2,338.67	TONS	8' Shoulder section	289.057		292.28		
			9/14/22	9/16/22	3,272.86	TONS	8' shoulder	292.28		297.87		
			9/15/22	9/16/22	2,992.28	TONS	8' shoulder	297.87		302.947		
0400	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	9/1/22	9/16/22	3,254.40	TONS	Passing Lane	290.449		294.750		
			9/6/22	9/16/22	3,204.84	TONS	Passing Lane	294.750		299.032		
			9/7/22	9/16/22	3,215.35	TONS	Passing Lane	299.032		303.314		
			9/8/22	9/16/22	3,397.05	TONS	Driving Lane	290.110		294.822		
			9/9/22	9/16/22	3,250.95	TONS	Driving Lane	294.822		299.921		
			9/12/22	9/16/22	3,009.80	TONS	Driving Lane	299.921		304.684		
			9/13/22	9/16/22	364.94	TONS	Driving Lane	304.684		305.247		
0420	4031058	INTELLIGENT COMPACTION	9/15/22	9/16/22	0.50	LS		.1				
0430	4031059	PAVER-MOUNTED THERMAL PROFILES	9/15/22	9/16/22	0.50	LS		.1				
0450	4071007	TACK COAT - LOW OR NON-TRACKING	9/1/22	9/16/22	1,912.00	GAL	Passing Lane	290.449		294.750		
			9/6/22	9/16/22	1,805.00	GAL	Passing Lane	294.750		299.032		
			9/7/22	9/16/22	1,912.00	GAL	Passing Lane	299.032		303.314		
			9/8/22	9/16/22	2,106.00	GAL	Driving Lane	290.103		294.822		
			9/9/22	9/16/22	2,081.00	GAL	Driving Lane	294.822		299.921		
			9/12/22	9/16/22	1,902.00	GAL	Driving Lane	299.921		304.684		
			9/13/22	9/16/22	1,162.00	GAL	Driving lane and shoulder	304.684		305.247		
			9/14/22	9/16/22	1,210.00	GAL	8' shoulder	292.28		297.87		
			9/15/22	9/16/22	1,258.00	GAL	8' shoulder	297.87		302.947		
0580	6161025	CHANNELIZER (TRIM LINE)	9/15/22	9/16/22	150.00	EA		.1				
0590	6161030	TYPE III MOVEABLE BARRICADE	9/15/22	9/16/22	10.00	EA		.1				
0760	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9/13/22	9/16/22	20.00	SQYD		.1				
			9/14/22	9/16/22	30.00	SQYD		.1				
			9/15/22	9/16/22	20.00	SQYD		.1				

<u>The information below this line are details for Construction Signs (if applicable).</u>

No Data Available

Revision 4/1/2020 Page 10 of 16



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3241	0090	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		4	Jul 18, 2022	SYSTEM	\$45,427.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user foxd overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Jul 18, 2022	SYSTEM	(\$45,427.50)	
					5	Jul 28, 2022	SYSTEM	\$45,427.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user foxd overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Jul 28, 2022	SYSTEM	(\$45,427.50)	
					6	Aug 17, 2022	SYSTEM	\$45,427.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user foxd overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Aug 17, 2022	SYSTEM	(\$45,427.50)	
					7	Sep 2, 2022	SYSTEM	\$45,427.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user foxd overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Sep 2, 2022	SYSTEM	(\$45,427.50)	
					8	Sep 16, 2022	SYSTEM	\$45,427.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user foxd overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Sep 16, 2022	SYSTEM	(\$45,427.50)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
			Overrun	Overrun	4	Jul 18, 2022	SYSTEM	(\$22,185.00)	
					8	Sep 16, 2022	SYSTEM	\$22,185.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',225.00000 - 225.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0090 -	Total						\$0.00	
	0130	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		4	Jul 18, 2022	SYSTEM	\$1,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user foxd overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	Jul 18, 2022	SYSTEM	(\$1,875.00)	
					5	Jul 28, 2022	SYSTEM	\$1,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user foxd overridding Payment Estimate Exception 8 on the current Payment Estimate.
					5	Jul 28, 2022	SYSTEM	(\$1,875.00)	
					6	Aug 17, 2022	SYSTEM	\$1,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user foxd overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Aug 17, 2022	SYSTEM	(\$1,875.00)	
					7	Sep 2, 2022	SYSTEM	\$1,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user foxd overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Sep 2, 2022	SYSTEM	(\$1,875.00)	
					8	Sep 16, 2022	SYSTEM	\$1,875.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user foxd overridding Payment Estimate Exception 7 on the current Payment Estimate.
					8	Sep 16, 2022	SYSTEM	(\$1,875.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Overrun	Overrun	4	Jul 18, 2022	SYSTEM	(\$900.00)	
					8	Sep 16, 2022	SYSTEM	\$900.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',7.50000 - 7.50000, 'is applied (if non-zero).



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
J2P3241	0130	DOWEL BAR (DRILLING,	Overrun	Overrun - T	otal			\$0.00					
		FURNISHING AND INST	Overrun - Tota	ıl				\$0.00					
	0130 -	· Total						\$0.00					
	0140	TIE BAR (DRILL, FURN & INSTAL) (TYPE L	Material		4	Jul 18, 2022	SYSTEM	\$280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user foxd overridding Payment Estimate Exception 10 on the current Payment Estimate.				
					4	Jul 18, 2022	SYSTEM	(\$280.00)					
					5	Jul 28, 2022	SYSTEM	\$280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user foxd overridding Payment Estimate Exception 10 on the current Payment Estimate.				
									5	Jul 28, 2022	SYSTEM	(\$280.00)	
					6	Aug 17, 2022	SYSTEM	\$280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user foxd overridding Payment Estimate Exception 10 on the current Payment Estimate.				
								6	Aug 17, 2022	SYSTEM	(\$280.00)		
						7	Sep 2, 2022	SYSTEM	\$280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user foxd overridding Payment Estimate Exception 8 on the current Payment Estimate.			
						7	Sep 2, 2022	SYSTEM	(\$280.00)				
								8	Sep 16, 2022	SYSTEM	\$280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user foxd overridding Payment Estimate Exception 9 on the current Payment Estimate.	
					8	Sep 16, 2022	SYSTEM	(\$280.00)					
				- Total				\$0.00					
			Material - Tota	ı				\$0.00					
			Overrun	Overrun	4	Jul 18, 2022	SYSTEM	(\$230.00)					
					8	Sep 16, 2022	SYSTEM	\$50.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',10.00000 - 10.00000, 'is applied (if non-zero).				
				Overrun - T	otal			(\$180.00)					
			Overrun - Tota	ıl				(\$180.00)					
	0140 -	- Total						(\$180.00)					
	0150	DOWEL BAR RETROFIT	Material		5	Jul 28, 2022	SYSTEM	\$37,956.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user foxd overridding Payment Estimate Exception 13 on the current Payment Estimate.				
					5	Jul 28, 2022	SYSTEM	(\$37,956.60)					
					6	Aug 17, 2022	SYSTEM	\$37,956.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user foxd overridding Payment Estimate Exception 13 on the current Payment Estimate.				
					6	Aug 17, 2022	SYSTEM	(\$37,956.60)					
					7	Sep 2, 2022	SYSTEM	\$37,956.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user foxd overridding Payment Estimate Exception 11 on the current Payment Estimate.				
					7	Sep 2, 2022	SYSTEM	(\$37,956.60)					
					8	Sep 16, 2022	SYSTEM	\$37,956.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user foxd overridding Payment Estimate Exception 12 on the current Payment Estimate.				
					8	Sep 16, 2022	SYSTEM	(\$37,956.60)					
				- Total				\$0.00					
			Material - Tota	ı				\$0.00					
	0150 -	- Total						\$0.00					
	0310	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Other Item Adjustment	STMA		Jul 28, 2022	foxd	\$22,050.00	6061061 MGS Guard Rail, 8 ft. Posts 1,000 LF \$ \$ 22.05 \$ 22,050.00				
		0114		STMA - Tota	al			\$22,050.00					



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3241	0310	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	Other Item Adj	justment - To	tal			\$22,050.00	
	0310 -	Total						\$22,050.00	
	0320	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		8	Sep 16, 2022	SYSTEM	(\$2,603.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(REG/NO CURB)		- Total				(\$2,603.04)	
			Construction S	Stockpile - To	otal			(\$2,603.04)	
			Construction Stockpile STMI		1	May 16, 2022	SYSTEM	\$2,603.04	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$2,603.04	
			Construction	Stockpile STI	MI - Total			\$2,603.04	
	0320 -	Total						\$0.00	
	0340	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile STMI		1	May 16, 2022	SYSTEM	\$36,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)	0.11111	- Total				\$36,000.00	
			Construction	Stockpile STI	VII - Total			\$36,000.00	
	0340 -	Total						\$36,000.00	
J2P3241 -	Total							\$57,870.00	
J2P3259	0390	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		8	Sep 16, 2022	SYSTEM	\$507,366.68	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user foxd overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Sep 16, 2022	SYSTEM	(\$507,366.68)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
			Other Item Adjustment	ACAD	8	Sep 16, 2022	foxd	\$54,849.29	BP-1
			ACAD - Total					\$54,849.29	
			Other Item Ad	justment - To	tal			\$54,849.29	
			Price FUEL		8	Sep 16, 2022	SYSTEM	\$48,559.90	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$48,559.90	
			Price FUEL - T	otal				\$48,559.90	
	0390 -	Total						\$103,409.19	
	0400	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	Material		6	Aug 17, 2022	SYSTEM	\$448,162.79	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user foxd overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Aug 17, 2022	SYSTEM	(\$448,162.79)	
					7	Sep 2, 2022	SYSTEM	\$2,556,335.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user foxd overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Sep 2, 2022	SYSTEM	(\$2,556,335.96)	
					8	Sep 16, 2022	SYSTEM	\$1,844,626.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user foxd overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Sep 16, 2022	SYSTEM	(\$1,844,626.50)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
			Other Item Adjustment	ACAD	3	Jul 1, 2022	foxd	\$5,646.36	
					6	Aug 17, 2022	foxd	\$148,025.38	
					7	Sep 2, 2022	foxd	\$361,256.12	
					8	Sep 16, 2022	foxd	\$185,844.31	SP095
				ACAD - Tota	al			\$700,772.17	



ASPH. CONC. MINTURE Price FUEL	FUEL FUEL FUEL tity on all
70-22 (SP09SC) Price FUEL 3	FUEL FUEL FUEL tity on all
2022 7 Sep 2, SYSTEM \$143,975.28 Reference Item Price Adjustment Index Adjustment Type applied is 2022 8 Sep 16, SYSTEM \$111,171.73 Reference Item Price Adjustment Index Adjustment Type applied is 336,484.19	FUEL FUEL TUEL TUEL TUEL
2022 8 Sep 16, SYSTEM \$111,171.73 Reference Item Price Adjustment Index Adjustment Type applied is \$336,484.19	FUEL titly on all
Price FUEL 3 Jul 1, 2022 SySTEM St. 1,037,256.36	FUEL tity on all
Price FUEL - Total \$336,484.19	tity on all
O400 - Total	tity on all
Odd	tity on all
Adjustment 2022 ACAD - Total \$6,444.15	tity on all
Other Item Adjustment - Total	tity on all
Overrun	tity on all
2022 8 Sep 16, SYSTEM \$3,596.16 Unit price based on averaged overrun adjustments for installed qua previous payment estimates. Price Adjustments of ',103.87511 - 96 applied (if non-zero).	tity on all
2022 previous payment estimates. Price Adjustments of ',103.87511 - 96 applied (if non-zero).	tity on all 14000, 'is
Overrun - Total (\$1,078.22)	
Price FUEL 3 Jul 1, 2022 SYSTEM \$7,686.33 Reference Item Price Adjustment Index Adjustment Type applied is \$7,686.33 Price FUEL - Total \$7,686.33	
2022	
Price FUEL - Total \$7,686.33	UEL
0440 - Total \$13,052.26 0450 TACK COAT - Material 3 Jul 1, SYSTEM (\$2,361.61) LOW OR NON- TRACKING	
0450 TACK COAT - Material 3 Jul 1, SYSTEM (\$2,361.61) LOW OR NON- TRACKING	
LOW OR NON- TRACKING	
- Total (\$2,361.61)	
Material - Total (\$2,361.61)	
MaterialCredit 4 Jul 18, 2022 \$YSTEM \$2,361.61	
- Total \$2,361.61	
MaterialCredit - Total \$2,361.61	
0450 - Total \$0.00	
O490 FURN & PLACE CONC MATL FOR FULL DEPTH A Jul 18, SYSTEM \$11,277.50 This adjustment offsets the original system-generated Material Payle Estimate Item Adjustment (0008) due to user foxd overridding Payn Estimate Exception 1 on the current Payment Estimate.	
4 Jul 18, SYSTEM (\$11,277.50)	
5 Jul 28, 2022 \$16,477.50 This adjustment offsets the original system-generated Material Payr Estimate Item Adjustment (0001) due to user foxd overridding Payr Estimate Exception 1 on the current Payment Estimate.	
5 Jul 28, 2022 (\$16,477.50)	
6 Aug 17, 2022 \$32,077.50 This adjustment offsets the original system-generated Material Payl Estimate Item Adjustment (0009) due to user foxd overridding Payn Estimate Exception 2 on the current Payment Estimate.	
6 Aug 17, 2022 (\$32,077.50)	
7 Sep 2, 2022 \$32,077.50 This adjustment offsets the original system-generated Material Payl Estimate Item Adjustment (0015) due to user foxd overridding Payn Estimate Exception 2 on the current Payment Estimate.	
7 Sep 2, 2022 (\$32,077.50)	
8 Sep 16, SYSTEM \$32,077.50 This adjustment offsets the original system-generated Material Payl Estimate Item Adjustment (0014) due to user foxd overridding Payn	
Estimate Exception 3 on the current Payment Estimate.	



CPRILING AND INST 2022 Estimate Item Adjustment (0009) due to user foxd overridding Estimate Exception 6 on the current Payment Estimate. 4	Remarks	t	Amour	Created By	Created Date	Est. Number	Other Adjustment Type	Adjustment Type	Description	Line
DOMEL BAR Material FURNISHING AND REPRESENTED FURNIS		0.00	\$					Material - Tota	CONC MATL FOR	0490
CRRILING FURNISHING AND		0.00	\$						- Total	0490 -
A	This adjustment offsets the original system-generated Material Paymestimate Item Adjustment (0009) due to user foxd overridding Paymestimate Exception 6 on the current Payment Estimate.	0.00	\$30	SYSTEM		4		Material	(DRILLING, FURNISHING AND	0530
2022 Estimate Exception 6 on the current Payment Estimate.		0.00)	(\$30	SYSTEM		4			INST	
2022 SYSTEM \$1,050.00 This adjustment offsets the original system-generated Material Estimate Exception 6 on the current Payment Estimate.	This adjustment offsets the original system-generated Material Paymestimate Item Adjustment (0002) due to user foxd overridding Paymestimate Exception 6 on the current Payment Estimate.	0.00	\$60	SYSTEM		5				
2022 Estimate Item Adjustment (0010) due to user foxd overidding Estimate Exception 6 on the current Payment Estimate.		0.00)	(\$60	SYSTEM		5				
2022 7 Sep 2, SYSTEM \$1,050.00 This adjustment offsets the original system-generated Material Editariate Item Adjustment (0016) due to user food overridding Editariate Item Adjustment (0016) due to user food overridding Editariate Exception 4 on the current Payment Estimate. 7	This adjustment offsets the original system-generated Material Payme Estimate Item Adjustment (0010) due to user foxd overridding Payme Estimate Exception 6 on the current Payment Estimate.	0.00	\$1,05	SYSTEM		6				
2022 Estimate Item Adjustment (0016) due to user food overridding Estimate Exception 4 on the current Payment Estimate.		0.00)	(\$1,05	SYSTEM		6				
Sep 16, SYSTEM \$1,050.00 This adjustment offsets the original system-generated Material Estimate Item Adjustment (0015) due to user foxd overridding Estimate Exception 5 on the current Payment Estimate.	This adjustment offsets the original system-generated Material Payme Estimate Item Adjustment (0016) due to user foxd overridding Payme Estimate Exception 4 on the current Payment Estimate.	0.00	\$1,05	SYSTEM		7				
2022 Estimate Item Adjustment (0015) due to user foxd overridding Estimate Exception 5 on the current Payment Estimate.		0.00)	(\$1,05	SYSTEM		7				
2022	This adjustment offsets the original system-generated Material Paymestimate Item Adjustment (0015) due to user foxd overridding Paymestimate Exception 5 on the current Payment Estimate.	0.00	\$1,05	SYSTEM		8				
Material - Total \$0.00		0.00)	(\$1,05	SYSTEM		8				
DS30 - Total		0.00	\$				- Total			
DS40 FURN & PLACE BIT. MATL FOR CL C PARTIAL Dither Item ACAD 3 Jul 1, 2022 foxd \$1,352.55		0.00	\$				ıl	Material - Tota		
BIT. MATL FOR CL C PARTIAL 2022		0.00	\$						· Total	0530 -
Other Item Adjustment - Total \$1,352.55				foxd					BIT. MATL FOR	0540
D540 - Total								Other Rem Ad		
CONSTRUCTION Material 2 Jun 15, SYSTEM (\$2,630.00)						otal	justment - 10	Other Item Adj		25.42
- Total (\$2,630.00) Material - Total (\$2,630.00) MaterialCredit 3 Jul 1, 2022 SYSTEM \$2,630.00 - Total \$2,630.00 MaterialCredit - Total \$2,630.00 O570 - Total \$0.00 CMS W/O COMMUNICATION INTERFACE, CONT F/ Material - Total \$2022 SYSTEM \$6,000.00) Material - Total \$3 Jul 1, 2022 SYSTEM \$6,000.00 Material - Total \$6,000.00				SYSTEM		2		Material	CONSTRUCTION	
MaterialCredit 3		0.00)	(\$2,63				- Total			
2022		0.00)	(\$2,63				ıl	Material - Tota		
Material Credit - Total \$2,630.00		0.00	\$2,63	SYSTEM		3		MaterialCredit		
0570 - Total \$0.00		0.00	\$2,63				- Total			
0630 CMS W/O COMMUNICATION INTERFACE, CONT F/ Material - Total Material Credit Material Credit 2 Jun 15, 2022 SYSTEM (\$6,000.00) (\$6,000.00) (\$6,000.00) (\$6,000.00)		0.00	\$2,63				- Total	MaterialCredit		
COMMUNICATION 2022 (\$6,000.00)		0.00	\$						- Total	0570 -
CONT F/ - Total (\$6,000.00)		0.00)	(\$6,00	SYSTEM		2		Material	COMMUNICATION	0630
MaterialCredit 3 Jul 1, SYSTEM \$6,000.00		0.00)	(\$6,00							
2022		0.00)	(\$6,00				ıl	Material - Tota		
- Total \$6,000.00				SYSTEM		3		MaterialCredit		
MaterialCredit - Total \$6,000.00							- Total	MaterialCredit		
0630 - Total \$0.00 0740 COLDMILLING Overrun Overrun 7 Sep 2, SYSTEM (\$17,405.58)				SYSTEM		7	Overrun	Overrun	COLDMILLING	
	Unit price based on averaged overrun adjustments for installed quan previous payment estimates. Price Adjustments of ',0.95000 - 0.9500 applied (if non-zero).	8.77	\$33	SYSTEM	Sep 16,	8				
Overrun - Total (\$17,066.81)	,	6.81)	(\$17.06			otal	Overrun - T			
Overrun - Total (\$17,066.81)								Overrun - Tota		

Sep 20, 2022



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3259	0740 -	Total						(\$17,066.81)	
	0810	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN		STMA	5	Jul 28, 2022	foxd	\$27,562.50	6061061 MGS Guard Rail, I ft. Posts 1,250 LF \$ \$ 22.05 \$ 27.562.50
		F1 3 IIV		STMA - Tota	al			\$27,562.50	
			Other Item Ad	justment - To	tal			\$27,562.50	
	0810 -	Total						\$27,562.50	
J2P3259 -	J2P3259 - Total								
Overall -	Overall - Total								